
(99 ÷ 11) × 3

Answer:              27

Scan for more
resources!

Order of Operations
(Basic | ANSWER KEY)

(25 + 5) × 3 – 13

7(–7) + (36 ÷ 9)

100 + 42 ÷ 6

(–2) 
3 – 12 + 4

[12 – (– 4)] + 4 
2

25 + 35 ÷ (–7)

– 8 + (–7) – 15

120 ÷ (7 × 7 – 3 
2

 )

75 ÷ (20 + 12 – 7)

Answer:              

Answer:              

Answer:              

Answer:              

Answer:              

Answer:              

Answer:              

Answer:              

Answer:              

#1 #2

#3 #4

#5 #6

#7 #8

#9 #10

77 32

107 3

–45 –30

20

3–16



Scan for more
resources!

Order of Operations
(Advanced | ANSWER KEY)

[(15 + 5) + (26 – 6)2] + 3 
2

[(9 × 4) ÷ 12] + 5 – 4 
2

15 ÷ 5 + (36 ÷ 12) 
2 – 4

(6 × 7) + 26 + 12 – 5

[(3 + 2)2 + (10 + 1)] + 2 
3

3[(9 + 14) – (81 ÷ 9)]

6 (2 + 18 – 9) + (3 × 4)2

5 + [3 × (35 ÷ 7)]

[–12 ÷ (– 4)] × [144 ÷ (15 – 3)] 

Answer:              

Answer:              

Answer:              

Answer:              

Answer:              

Answer:              

Answer:              

Answer:              

Answer:              

#1 #2

#3 #4

#5 #6

#7 #8

#9 #10

429

44 36

64 20

8

210

–8 42

8(52 + 15) – (7 + 13)

Answer:              300


